OTHERS ANB29P
AN829P

Dual Attenuator

B Outline Unit - mm
The ANS29P is an integrated circuit which logarithmically .
controls the throughput (gain) of an audio signal by the DC : 1 ——~1E:l> 1 f'
voltage or resistance value and has 2 circuits. Since the volt- o ¢ D3 o
age is internally stabilized, the stable operations are assured 2|3 ‘ [T»12 §
at the allowable supply voltage range (8 to 14.4V). The current g < |1 :tg
source is provided with control circuit so that operation can = gg l :I:;;O :
be controlled by the voltage drop. < ) |s I b
' 11025

B Features 635£03 4.7+0.25 3.05+0.25
® A wide operating voltage range Hi |
@ High attenuation level wi
® Easy to control signal gain with simple circuit 3~15° f7.6210.25 03-0
@ Less crosstalk between each channel

14-Lead DIL Plastic Package

B Use

This IC is used for electronic volume such as transceiver,
radio, TV, stereo, tape recorder, etc.

B Schematic Diagram
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OTHERS AN829P
M Absolute Maximum Ratings (Ta=25C)
Item Symbol Rating Unit
Supply Voltage Vce 14.4 \"
Vs, Viz* 6 \Y%
Circuit Volt
frewt Yottage Vi, Vio Vee \%
Total Current Dissipation Tiog  tot 25 mA
Total Power Dissipation Piot 360 mW
Operating Ambient Temperature Topr —20~+75 ‘C
Storage Temperature Tseg —55~+150 °C
Note : DC voltage must not be applied to Pins @, @, ® and @ from the outside.
6 V is used as voltage for Ve and Vi3 and no larger than Vcc voltage.
B Electrical Characteristics (Ta=25°C)
Item Symbol Test” Condition min t max. | Unit
€ ¥ Circuit : ¥D- :
Gain (1) Gw1 1 Vee=12V, f=1kHz, v:=100mV, Ven=5V | 11.7 15.7 dB
Gain (2) Gv2 1 Vee=12V, f=1kHz, 0:=10mV, Ve=4V | 10.5 15 dB
Gain (3) Gvs 1 Vee=12V, {=1kHz, v:=100mV, Veonr=3V | —14 2 dB
Gain Ratio nannel 2 Grae) 1| Vee=12V, f=1kHz, 0i=100mV, Vem=3V | —6 6 | dB
Channel 1 Gvaw
. . Vee=12V, f=1kHz, v:=100mV,
Residual Noise Vo 1 Ve=10V. B=20kHz 100 %
Noise Ux 1 Vee=12V, vi=0V, Vc=3.5V, B=20kHz 150 uv
Crosstalk CT 5 Vee=12V, f=1kHz, vi=500mV, V=50V 60 dB
Qutput DC Voltage Vo 2 Vee=12V, Vc=5.0V 5.7 8.2 v
Output Voltage Fluctuation| 4Vo 2 Vee=12V, Vc¢=5.0~0V —0.65 0.65 \'
Vee=12V, Reom=00 0.15 0.33 mA
_Icon
Control Input Current ‘% [Ve=12V, Ram=20ko 0.15 033 | mA
Supply Current Icc 4 Vee=12V, Vce=5V 22 mA
Distortion Factor THD 1 Vee=12V, {=1kHz, V=5V, pi=100mV 0.5 %
Ds Breakdown BVp 6 Is, Iis=10A 6 Vv
Note : Same measurement should be applied for CH2.
Test Circuit 1 Gyaa ) ® Gain (Gv)
(G‘”' Gz Guan G+ Vo ¥ THD Gain=201ag¥‘1
o V Conditions Ui : f=1kHz, 100Vrms
v L+ - cc Signal source resistance<<600Q
o~ _ilo,uF im,‘F Veem1ay
T VS VR U Gvi Z:;T;):SV, Geont =4V,
ANS829P Gvs Gvan i Veone=3V
1 5 6 7
10uF ® Residual noise (Un)
SW +Ff_ v Conditions Vi : f=1kHz, 100mVrms
v, 680pF 10kQ 0 Signal source resistance<600Q
AC Ammeter Vee=12V, Vem=1V, B=20kHz.
S ,

® Distortion factor (THD)

Conditions

® Noise (Vx)

Ui - f=1kHz, 100mVrms
Vee=12V, V=5V

Conditions Vee=12V, Ven=3.5V, B=20kHz
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OTHERS AN829P
Test Circuit 2 (V,, 4V,) Test Circuit 3 (I,,,)
_J_ % Vec g
Veont T & Ve
’ 1713 12 11 10 9 § Reont
ANB829P 1413 12 11 10 9 8
1 2 3 4 5 6 17 AN829P
Conditions L 1 2 3 4 5 6 7
Vee=12V v,
Vo V0 =5V DC Voltmeter .
AV, V., =5V—Q0V Jr —Icont Conditions
Vee=12V
Test Circuit 4 (1..) DC Voltmeter v R.., =00, 20kQ
{/)__ o
-V I Test Circuit 5 (CT)
J;- cont I est Circui
’ 413 12 11 10 9 8 ‘V
. ANB29pP \Y T -3 Vee
comJ. I 470uF
1 2 3 5 6 17 Z E} [_-‘-eso u
] S 17 el T
I 14 13 12 11 10 9 8 d
Icc Eonc‘l/itions . ANB829P
\\//CC— —liv 1 2 3 4 5 7
o — Logopr| | 4 Yo
Test Cireuit 6 (BV ) .. 10pF TVeonr  SM0kAECHAC
. i - J_ Voltmeter
— 2 DC Ammeter ’ ’ g g
v Conditions vin - f=1kHz, 500mVrms
1413 12 11 10 9 8 Signal source resistance=600Q
ANS29P Vee=12V
Veont=5V
1 2 3 4 5 7 ont U0
Crosstalk = Il()log5 o
e DC Voltmeter
v " DC I v
BV, . Ammeter|] ° d
Conditions [ 1,;=10pA
Bl Application Circuit
VO/Vi’_V](cont)’ R(cont) ANS829P
= 0 ra o Vec(CH1)
T // Signal Input o
> P
Control I O
3z 2 7 onerol fnput 0 Output(CH1)
g /
= —40
S / 680pF
3 f *
£ —60 ’ Vec(CH2)
@) Ta=25C .
e Ve =B~14.4V Signal Input O
R, =10kQ
& -8 0dB=14dB Gain Control Input O 10uF Output(CH2)
3 f=1Hz “r 4 R. or(CH1)
= V,=100mV a
5 —100 L—-(9
a 0 3 4 Viceony (V)
= 0 4 8 12 16 20 Rewn(kQ) 680pF
Control Input Voltage Vicenty (V), ;

Limit Resistance Riconty (KQ)
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